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t10�< M g /�#6"�� m 2#�� 4�"0 %#/$ 1%!�"0 C"!1 , ��2/���"0 ��2 �3 7j Sk (M) g !3/� 3!�0
/#6 "�"0 2#J3�%�� k (k � m) .�5�"0 C"!1 5 /�#6"�" �j S0 (M) ≡ 1. fC1�"2�� .���#!��h

[Sk (M ∪ {z})− Sk (M) = zSk−1 (M) ; 1 � k � m; z ∈ C, z /∈M ; )@-

Sk (M ∪ {z})− Sk (M ∪ {u}) = (z − u)Sk−1 (M) ;

z ∈ C, u ∈ C, z /∈M, u /∈M, 1 � k � m+ 1.
)�-

t10�< αp ∈ C; βp ∈ C; αp �= 0; βp �= 0; p = 0, 1, 2, ... i�121/# ��%� /�#6"�" 5 n− 1 1 1/1����h

P0 = {αn−2, αn−3, ..., α0} ;

P1 = {αn−3, αn−4, ..., α0, β0} ;

P2 = {αn−4, αn−5, ..., α0, β0,β1} ;
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Pn− 1 = {β0, β1, ..., βn−2} ;
�������

dn ≡ det {Sk (Pl)} =

n−2∏
p=0

(βn−2−p − αp)

n−3∏
p=0

(βn−3−p − αp) · ... ·
1∏
p=0

(β1−p − αp) (β0 − α0);

(k, l = 0, 1, 2, . . . , n− 1)

9."% �2" ��%"0 �"5��C�"%�� $." n = 2, 3, 4h

d2 =

∣∣∣∣ 1 1
α0 β0

∣∣∣∣ = β0 − α0; )Q-

d3 =

∣∣∣∣∣∣
1 1 1

α1 + α0 α0 + β0 β0 + β1
α1α0 α0β0 β0β1

∣∣∣∣∣∣ = (β1 − α0) (β0 − α1) (β0 − α0) ;

d4 =

∣∣∣∣∣∣∣∣
1 1 1 1

α2 + α1 + α0 α1 + α0 + β0 α0 + β0 + β1 β0 + β1 + β2
α2α1 + α2α0 + α1α0 α1α0 + α1β0 + α0β0 α0β0 + α0β1 + β0β1 β0β1 + β0β2 + β1β2

α2α1α0 α1α0β0 α0β0β1 β0β1β2

∣∣∣∣∣∣∣∣
=

= (β2 − α0) (β1 − α1) (β0 − α2) (β1 − α0) (β0 − α1) (β0 − α0) ;

����

dn =

n−2∏
k=0

(βn−2−k − αk) · dn−1 )8-

� M�2 1 1/1���� nD#�# !�#�$:7 �"5��C�"%� dn ��2��/1/# ��2$#��2�� 1 1/1��" (n− 1)D#�# !�#�$:7, ��2
1 1/1���� (n − 1) !�#�$:7 ��2��/1/# ��2$#��2�� 1 �/1��" (n − 2)D#�# !�#�$:7, � ��% $.#2#�63E/#, �6
$#%" ��2 1 1/1���� 2.3�#�# !�#�$:7 �1 ��2��/1/# ��2$#��2�� 1 1/1��" $1.K#�#� M��! �2#% .���#!�1< )�-
1 1/1��" #!����4#�# !�#�$:7 $�! 7 ��2��/���7 /��"/3�4 �"� 72h

Sk (β0, β1, ..., βn−3, βn−2)− Sk (β0, β1, ..., βn−3, α0) = (βn−2 − α0)Sk−1 (β0, β1, ..., βn−3)

k = 1, 2, . . . , n− 1.
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91.K"< 1 1/1�� :4#�# !�#�$:7 $�! 7 ��2��/���7 2#.���F���"/1 �3 F� M"��!K" 5� 5��% �"5��C�"%�
/�#6�"% (βn−2 − α0) 5 #!����4#�# !�#�$:7, $#��/ /�#6�"% (βn−3 − α1) 5 $1.12#!����4#�# !�#�:7, �
��% 2� � 5 ��K"0 !�#�$:��, .#5% �21/# �"5��C�"% 5� 1 1/1���/" $1.K#�# .72%�� M .153 4���� ��%"0
$1.1��#.1�4 #�."/�E/# .����!�4 )8-��

k#�121��7 �1#.1/" �"$ "��E 5 .1%3.1���#�# !$����2�#K1��7 )8- � .���#!�� )Q-�
O153 4��� #JC"! 1��7 �"5��C�"%� dn ����23E .153 4��� #JC"! 1��7 �"5��C�"%� M��21./#�2� V@,
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